MANATEE COUNTY GOVERNMENT INTENT TO AWARD

ITQ NO./TITLE	20-R074166GE Emergency Shelter 1250 KW Generato Rental/Retainer		BCC	MCC MBC			
PROCUREMENT REPRESENTATIVE	George Earnest CPPB	PROJECTED AWARD DATE	June 2, 2020				
DEPARTMENT/DIVISION	Public Safety	AUTHORIZED BY DATE	Jacob Erickson, Interim Procurement Official				
	NOTICE OF I	INTENT TO AWARD					
Corporation for the provisio	The Manatee County Procurement Division provides notice of its intent to award a contract with Ring Power Corporation for the provision of the rental and retainer of a 1250 KW diesel generator for the Special Needs Emergency Shelter during times of a declared disaster.						
	ENABLING/REG	GULATING AUTHORI	ТҮ				
Manatee County Procureme	ent Ordinance, Sec 2-26.						
	BACKGROU	UND/DISCUSSION					
Manatee County is responsible for providing electrical power to the Special Needs Emergency Shelter during times of a declared disaster, usually a hurricane. The retainer of a 1250 KW diesel generator during the hurricane seasons required a competitive solicitation.							
The solicitation was advertised on April 20, 2020 on the Manatee County website. It was also provided to the Manatee County Chamber of Commerce and the Manasota Black Chamber of Commerce for release to its members. Responses were received from the following firms:							
 Aggreko LLC / Miami, FL Herc Rentals, Inc. / Apopka, FL Ring Power Corporation / St. Augustine, FL United Rentals (North America), Inc. / Tampa, FL 							
EVALUATION RESULTS SUMMARY:							
Ring Power Corporation has been determined to be the responsive and responsible bidder with the lowest Total Quote Price. A quote tabulation of the results is attached to this Notice of Intent to Award.							
The Procurement Division and the Public Safety Department recommend the award to Ring Power Corporation.							
ATTACHMENTS (List in order of attached)	ITQ Quote Tabulation	NAME O	F FUNDING SOURCE	Account No. 0010007001- 544000			
COST	\$129,405.00		FUNDS VERIFIED	<i>Yes</i>			

QUOTE TABULATION

ITQ 20-R074166GE, EMERGENCY SHELTER 1250 KW GENERATOR RENTAL/RETAINER

ITEM	DESCRIPTION	QUANTITY	EXTENDED		
NO.		UNIT OF MEASURE	UNIT PRICE	MULTIPLIER	PRICE
1	Retainer fee for a 1250 KW portable diesel generator, w/ 480v 3 phase main circuit breaker, sound attenuated weatherproof enclosure, and trailer mounted. Includes up to 450 hours of operation per hurricane season.	Months	\$12,375.00	X 6 =	\$ 74,250.00
2	Hourly fee for operations exceeding 450 hours per hurricane season.	Hour	\$65.00	Estimated X 40 =	\$ 2,600.00
3	Retainer fee for 50 ft sections of 4/0 power cable	Months	\$330.00	X 6 =	\$ 1,980.00
4	Retainer fee for two 2500 gallon skid mounted fuel tanks	Months	\$2,000.00	X 6 =	\$ 12,000.00
5	Delivery/ Pickup Fee	Each	\$2,330.00	Estimated X 4 =	\$ 9,320.00
6	Installation/Startup & Removal Fee	Each	\$5,200.00	Estimated X 4 =	\$ 20,800.00
7	On-site repair labor per hour for County-caused repairs, Monday to Friday, 8AM to 5PM. Travel time not allowed.	Hour	\$150.00	Estimated X 10 =	\$ 1,500.00
8	On-site repair labor per hour for County-caused repairs, overtime. Travel time not allowed.	Hour	\$225.00	Estimated X 5 =	\$ 1,125.00
9	On-site repair labor per hour for County-caused repairs during national holidays. Travel time not allowed.	Hour	\$300.00	Estimated X 5 =	\$ 1,500.00
10	Daily rental of genset for Switch Gear testing	Day	\$2,165.00	Estimated X 2 =	\$ 4,330.00
11	Automatic fuel connection setup / disconnect	Hour	Included in Item #6	Estimated X 12 =	\$ 0.00
12	Fuel hose, valves, and fittings for the 2500 gallon skid- mounted fuel tanks	TC	Included in Item #4	Estimated X 2 =	\$ 0.00

	Herc Rentals Inc., Apopka, FL					
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	UNIT PRICE	QUANTITY MULTIPLIER	EXTENDED PRICE	
1	Retainer fee for a 1250 KW portable diesel generator, w/ 480v 3 phase main circuit breaker, sound attenuated weatherproof enclosure, and trailer mounted. Includes up to 450 hours of operation per hurricane season.	Months	\$19,000.00	X 6 =	\$ 114,000.00	
2	Hourly fee for operations exceeding 450 hours per hurricane season.	Hour	\$53.98	Estimated X 40 =	\$ 2,159.20	
3	Retainer fee for 50 ft sections of 4/0 power cable	Months	\$1,320.00	X 6 =	\$ 7,290.00	
4	Retainer fee for two 2500 gallon skid mounted fuel tanks	Months	\$5,126.00	X 6 =	\$ 30,756.00	
5	Delivery/ Pickup Fee	Each	\$700.00	Estimated X 4 =	\$ 2,800.00	
6	Installation/Startup & Removal Fee	Each	\$200.00	Estimated X 4 =	\$ 800.00	
7	On-site repair labor per hour for County-caused repairs, Monday to Friday, 8AM to 5PM. Travel time not allowed.	Hour	\$150.00	Estimated X 10 =	\$ 1,500.00	
8	On-site repair labor per hour for County-caused repairs, overtime. Travel time not allowed.	Hour	\$225.00	Estimated X 5 =	\$ 1,125.00	
9	On-site repair labor per hour for County-caused repairs during national holidays. Travel time not allowed.	Hour	\$300.00	Estimated X 5 =	\$ 1,500.00	
10	Daily rental of genset for Switch Gear testing	Day	\$5,000.00	Estimated X 2 =	\$ 10,000.00	
11	Automatic fuel connection setup / disconnect	Hour	\$125.00	Estimated X 12 =	\$ 1,500.00	
12	Fuel hose, valves, and fittings for the 2500 gallon skid- mounted fuel tanks	TC	\$50.00	Estimated X 2 =	\$ 100.00	
TOTA	TOTAL QUOTE PRICE (sum of items 1 thru 12 extended prices)					

	United Rentals (North America) Inc., Tampa, FL					
ITEM	DESCRIPTION	UNIT OF	UNIT	QUANTITY	EXTENDED	
NO.		MEASURE	PRICE	MULTIPLIER	PRICE	
1	Retainer fee for a 1250 KW portable diesel generator, w/ 480v 3 phase main circuit breaker, sound attenuated weatherproof enclosure, and trailer mounted. Includes up to 450 hours of operation per hurricane season.	Months	\$26,000.00	X 6 =	\$ 156,000.00	
2	Hourly fee for operations exceeding 450 hours per hurricane season.	Hour	\$0.00	Estimated X 40 =	\$ 0.00	
3	Retainer fee for 50 ft sections of 4/0 power cable	Months	\$300.00	X 6 =	\$ 1,800.00	
4	Retainer fee for two 2500 gallon skid mounted fuel tanks	Months	\$4,254.00	X 6 =	\$ 25,524.00	
5	Delivery/ Pickup Fee	Each	\$945.00	Estimated X 4 =	\$ 3,780.00	
6	Installation/Startup & Removal Fee	Each	\$0.00	Estimated X 4 =	\$ 0.00	
7	On-site repair labor per hour for County-caused repairs, Monday to Friday, 8AM to 5PM. Travel time not allowed.	Hour	\$85.00	Estimated X 10 =	\$ 850.00	
8	On-site repair labor per hour for County-caused repairs, overtime. Travel time not allowed.	Hour	\$120.00	Estimated X 5 =	\$ 600.00	
9	On-site repair labor per hour for County-caused repairs during national holidays. Travel time not allowed.	Hour	\$120.00	Estimated X 5 =	\$ 600.00	
10	Daily rental of genset for Switch Gear testing	Day	No Bid	Estimated X 2 =	\$ 0.00	
11	Automatic fuel connection setup / disconnect	Hour	\$45.00	Estimated X 12 =	\$ 540.00	
12	Fuel hose, valves, and fittings for the 2500 gallon skid- mounted fuel tanks	TC	\$100.00	Estimated X 2 =	\$ 200.00	
TOTA	TOTAL QUOTE PRICE (sum of items 1 thru 12 extended prices)					

	Aggreko LLC, Miami, FL					
ITEM NO.	DESCRIPTION	UNIT OF MEASURE	UNIT PRICE	QUANTITY MULTIPLIER	EXTENDED PRICE	
1	Retainer fee for a 1250 KW portable diesel generator, w/ 480v 3 phase main circuit breaker, sound attenuated weatherproof enclosure, and trailer mounted. Includes up to 450 hours of operation per hurricane season.	Months	\$20,250.00	X 6 =	\$ 121,500.00	
2	Hourly fee for operations exceeding 450 hours per hurricane season.	Hour	N/A	Estimated X 40 =	\$ 0.00	
3	Retainer fee for 50 ft sections of 4/0 power cable	Months	\$912.00	X 6 =	\$ 5,472.00	
4	Retainer fee for two 2500 gallon skid mounted fuel tanks	Months	\$5,950.00	X 6 =	\$ 35,700.00	
5	Delivery/ Pickup Fee	Each	\$2,880.00	Estimated X 4 =	\$ 11,520.00	
6	Installation/Startup & Removal Fee	Each	\$4,288.00	Estimated X 4 =	\$ 17,152.00	
7	On-site repair labor per hour for County-caused repairs, Monday to Friday, 8AM to 5PM. Travel time not allowed.	Hour	\$134.00	Estimated X 10 =	\$ 1,340.00	
8	On-site repair labor per hour for County-caused repairs, overtime. Travel time not allowed.	Hour	\$201.00	Estimated X 5 =	\$ 1,005.00	
9	On-site repair labor per hour for County-caused repairs during national holidays. Travel time not allowed.	Hour	\$268.00	Estimated X 5 =	\$ 1,340.00	
10	Daily rental of genset for Switch Gear testing	Day	Included	Estimated X 2 =	\$ 0.00	
11	Automatic fuel connection setup / disconnect	Hour	Included	Estimated X 12 =	\$ 0.00	
12	Fuel hose, valves, and fittings for the 2500 gallon skid- mounted fuel tanks	TC	Included	Estimated X 2 =	\$ 0.00	
TOTAL QUOTE PRICE (sum of items 1 thru 12 extended prices)			\$ 195,029.00			